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10. | Keep all your belongings outside the Examination hall. Do not retain any paper
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NOTE:

(i)

(ii)

There are two major sections in the Test Booklet Section A and Section B. Section A comprises of Child
development and pedagogy — 30 questions, English Language — 30 questions and Punjabi Language — 30
questions. Section A is compulsory and all the sub-sections have to be attempted. There are 90 questions in
total in Section —A in which the Child development and pedagogy is bilingual.

Section B comprises of Mathematics and Science — 60 questions and Social Studies/Social Science — 60
questions. In Section B out of the two sub-sections (Mathematics and Science and Social Studies/Social Science)
only one is to be attempted.The Section — B is bilingual (English followed by Punjabi).

SECTION - A

CHILD DEVELOPMENT AND PEDAGOGY (BILINGUAL) — 30 QUESTIONS (1-30)

A developmental perspective involves concern with changes occurring over time in:
(1) form (2) rate (3) sequence (4) all of these

feaw ufady AR @ 578 &% fan feg Tud ufseeast o Aifug -
(1)3y (2)H® (3) MigaH (4) Qudas A9 Tt

The thinking process involved in producing an idea or concept that is new, original and useful is termed
as:
(1) creativity (2) innovation (3) intelligence (4) synectics

39, Hfsa W3 Qusiaht fegrg At ugaT § Uer a9s feu fafos f&as yfeprr § ot nrfnr ater &
(1) IT&TIHAIT (2) s=t&3T (3) gt (4) Aret&afean

The transmission of traits from parents to off-springs is called:
(1) environment (2) genes (3) heredity (4) homeostasis

Wit 3* gfon 3 et € A9 § »ye I
(1) ufg=a3zs (2) AtsH (3) feamz (4) A-Afagt

Which of the following theories identifies four stages of child’s intellectual development (sensory-
motor, pre-operational, concrete operational & formal operational)?

(1) Erickson’s theory of Psycho-social development (2) Freud'’s theory of Psycho-sexual development
(3) Jean Piaget’s theory of cognitive development (4) Kohlberg’s theory of moral development

fruts 99 € dfua feam €t 979 wiergT=t €t ug'e goeT I (ASE-Hed, Yae-Ausd, AgS® AUTsd Ma
Sugraa AeEa)

(1) wfgama @ H&-AHd feaw e fagtg (2) g3fes v W&-féaa feamm e fauiz

(3) #s fumma = Afarirasmava feaw e faatg (4) FIBHIIT T f3x feam e fAurg

Which of the following is NOT the benefit of integrating student-centred learning into the curriculum?
(1) strengthens student motivation (2) promotes peer communication
(3) builds student-teacher relationships (4) hinders discovery/active learning

fefenraet-afez ffinr-yust § vsay 5 A3 e fausr 379 591 &
(1) fefermmaegtnt € mifsigaT § HAg3 J9eT T (2) IH-339" ATET 575 AET § TU8er I
(3) fefenragt-nfomua ffg arfer gger 9 (4) ¥a/fammits fAfiir-yrust feg garee geer

Which one of theories of intelligence advocates the presence of general intelligence ‘g’ and specific
intelligence ‘s’?

(1) Anarchic theory (2) Guilford’s theory of intellect

(3) Spearman’s two factor theory (4) Vernon'’s hierarchical theory

gut &t faus fAus Arues g4t ‘g’ w3 fefame g4t s’ €t Hgeat & =a=3 a9er J1
(1) MarAa3T fAatg (2) far®eas e g4t =T fAgg
(3) AUteH® &r e-aradt fAars (4) TIH& © Sufad fAaiz

Images, concepts, symbols & signs, language, muscle activities and brain functions are involved in:
(1) adaptation (2) motor development (3) problem solving (4) thinking process

&g, gasT=t, ySia w3 {9, 9T, Adled arstfeutnt »3 fewrait avon fan fev fsfos o3|
(1) MEIBE (2) 43« feamw (3) A fru™ & AOTs (4) fo35 yfqmr

Which of the following is NOT an element of learning event?
(1) learner (2) internal conditions (3) stimulus (4) teacher
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faagT fafirr-yryst wesT er I3 &4t T
(1) frfupmraet (2) mi3faa T%3 (3) getus (4) mfomus

9 | Which one of the following theories view that behavior could be shaped through successive
approximation and reinforcement of responses more nearly approaching desired behavior?
(1) classical conditioning (2) instrumental conditioning
(3) operant conditioning (4) social learning
S | faus fAuta <t feg was § fa fesue § maghia faaesT w3 fefes fesue € wf3 faae yfsfaon=t &
festaes gt wrfenr a7 AgeT 31
(1) IBHIGT wgdBE  (2) SHIT MEIBS (3) AfeprT MgadE  (4) A A fm—-yru3t
10 | A process by which a parent assumes that his child’s traits are all positive because one trait is positive
is termed as:
(1) halo effect (2) hawthorne effect
(3) law of effect (4) reverse hallo effect
10 | €9 yfeprr, fam avat Wil feg Ws 8¢ 95 fa @t € 89 &hut Adtut feRmzTet Arararana as fa@fa fea
feimsT Ararerana 3, § Mue 95
(1) ufeuw ygr= (2) THIS yg'= (3) ufge™ ygr= (4) feudts ygre
11 | Ramesh and Ankit have the same 1Q of 120. Ramesh is two years younger than Ankit. If Ankit is 12 years
old, then the mental age of Ramesh is:
(1) 9 years (2) 10 years (3) 12 years (4) 14 years
11 | goim w3 wifag € 120 @ AN 1Q 3| IHE #Wfag 3 € ATS &7 J1 7 #ifag &t €va 12 7% T, 3t aiw <t
Wsfra @va &
(1) 9 A (2) 10°7™& (3) 12 7% (4) 1478
12 | Which of the following is NOT an example of discrete variable?
(1) age (2) gender (3) marital status (4) place of residence
12 | fggst fenw 99 €t Gewes adt 91
(1) Ha (2) féar (3) feerfoa nfast (4) faorfext gt
13 | An appropriate form of assessing students’ performance in practicals is:
(1) interview (2) observation (3) questionnaire (4) written test
13 | ytiar feg fefemradtyt € yeous e Hoide a9s o Gugag gu &
(1) féeaf<g (2) fadtue (3) yH&=BT (4) faudt udhue
14 | The type of evaluation which is used to monitor learning progress during instruction is called as:
(1) diagnostic evaluation (2) formative evaluation
(3) placement evaluation (4) summative evaluation
14 | fafwr €975 fAue € YISt § Hatee 995 BEt @93t AE! Heide € fand § e 95
(1) feefaa ¥aas (2) TTSIHT HBES  (3) ATES HE& IS (4) AIBETINT HBaS
15 | Which one of the following is the better item of essay type of question?
(1) Discuss Newton’s laws of motion (2) Explain each of Newton’s three laws of motion
(3) What are Newton’s laws of motion? (4) Write note on Newton’s laws of motion
15 | fadu-gut yas € §u39 He faost §
(1) fsGes &t @ fsmm Qua ST g (2) fales @ 15t @ 3w fammt feg gagr &t femnfio o9
(3) fs€ew € a3t © fow ot 957 (4) fs€ex € a3t & fomt €73 &< fad|
16 | Special needs education is the type of education:
(1) given to very special people (2) given to persons with disabilities
(3) provided to intelligent people (4) established by colonial masters
16 | feiw (gfont) & fitfemr <t 83 3, fea fifionr ot faast fame 3
(1) mif 3 feim &at § fest miet (2) faatiararat =@ fenargnt & foSt wet
(3) UM BT § Y5 31 ATet (4) IHSt=TET HTHETT =8 AU
17 | Which one of the following cues does NOT indicate visual problems in the children?
(1) difficulty in following direction (2) frowning
(3) stumbling (4) unable to estimate distance
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17

(1) foerfes & use a9 feg #iy (2) {363t gz
(3) 399 yTET (4) 1 T MEHS BITGT € MGl

18

Children with speech impairment can be assisted by:

(1) encouraging them to express thoughts in the classroom
(2) helping him/her to pronounce correct sounds

(3) helping him/her to hear his/her spoken errors

(4) referral to specialist for complete evaluation

18

gz< © feag o8 gfowt &t fan 3gt AorfeaT a3t A7 Aaet T
(1) €&" & a@™HeH few feurd yare 995 et 3foz JaaT

(2) @t €t Aot gstit T G979 feg AoTfesT daaT

(3) €t & miruStit IgET Few feg AorfesT agaT

(4) yat AT B¥t fenm a1 38 gAeT

19

The gifted child:
(1) learns rapidly and easily (2) retains what he/she has heard or read without much rote drill
(3) reasons things out (4) attends to stimuli for a shorter period

19

ygoger

(1) 37 57% W At 37 e §

(2) 7 3% €7 & Afew Af ufgmT Jer 3, 8 & 993 3¢ &t vig 3 fasT oo quer 7
(3) ¥t & 399 I ygueT §

(4) 993 We AN et Uad <% fomrs fider J1

20 | Slow learners whose educational attainment falls below their natural abilities are labeled as:
(1) backward (2) gifted (3) juvenile delinquent (4) mentally retarded
20 | yre fafprrast, fagt €t fAfermava yrust €4t hut yigfaa dargret 3 w'e 3, @57 & mfprr aer 3
(1) U= JT (2) ygu (3) farg-mugrat (4) wafag 39 3 Mg T
21 | When delivering an effective lecture in classroom, a teacher:
(1) establishes an eye contact (2) employs meaningful gestures

(3) stands stationary at lecture stand  (4) varies pitch and tone

21 | guHEH few ygreardt Bauq féer dfewr, nifmua-
(1) »iyt & AUsd AETfuz gaer J (2) MIEYTS AAST T Y&dT JdeT I
(3) B9Td HE S ATOHS Afed y3er J (4) MTUST B M3 I § gE&eT gfder J|
22 | An example of media that transports learners to remote places by means of visualized reports is:
(1) educational television (2) educational broadcasts
(3) overhead projector (4) telephone
22 | @w wioni € @eues, fagaT fafunmaatnt § aaufag falivet € Arust odt gesest gef I & AieT
(1) faforava 2sifews (2) fafermava yrras (3) frg-QuasT Uvieg (4) TS
23 | Communication with students means:
(1) asking them to do a task (2) exchange of ideas
(3) giving them directions (4) informing them of your idea
23 | fefenradtnt 7% A9 €7 3BT T
(1) 88" & 31 I35 BTt MruET (2) fegrg zetear
(3) 8&t & foerfeat et (4) vy fegrat 3 €1 & Aoz dasT
24 | The first stage in the learning of a skill is:
(1) precision (2) manipulation (3) coordination (4) imitation
24 | gEBIT fiye ©f ufast merar 3
(1) ufgguar (2) feegg-gua3T (3) IBHB (4) MEdIE
25 | Which of the following is NOT an example of a concrete concept?
(1) ability (2) chair (3) force (4) motion
25 | fgost Ag® ugsT €t §ug9s a4t @
(1) GarzT (2) IaAt (3) 98 (4) a3t
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26

The reading technique that would be employed to locate terms and references in an index or thesaurus is:
(1) key-reading (2) re-reading (3) scanning (4) skimming

26

g ©f 3as1d, AR € 93" MagaHfedr AF AM-»9g an feg yet W3 fede B'9< @3 aidt A<, @n g
"ye I&
(1) MfIHTIYIE UF3  (2) Y&I-U33 (3) pur-fend@ne (4) AgAdt AT

27

Motivation begins with needs exists in all of us. The need, that the student would tend to fulfill first
pertains to:
(1) esteem (2) physiological (3) social (4) self actualization

27

wifgiea 83t 3' g9 g § fAos 8 Afent fev feews 3| fan 83 § fefemadt A 3 ufost yat aest
g, @ e iU fan s 9
(1) HEH™S (2) Al (3) AH™HS (4) mran-fRdt

28

For introducing a topic in classroom, what activity should a teacher do first?
(1) explain the rationale (2) inform the objectives
(3) tell topic orally (4) write topic on chalkboard

28

FBHgH feu fehi v ufed S< e, mfrrrug § ufost arsifet ot a9st watet §
(1) IFT-wOTa & femdT gaaT (2) G<nt &t gU&T Tt
(3) guvat few g9 eneT (4) IraEds Qua feur faysT

29

Which one of the following is an example of reinforcement?
(1) No Lata, the answer is not 45 (2) Kamla, can’t you help Keerti with her answer
(3) Oh no, as usual, you are wrong (4) Suniti, you have said rightly

29

Afegtaes € Gerges fagst @
(1) aat 37, €39 45 &t T (2) IW@T, &t F 93T & GF € €39 fev AurfesT a0t a9 Aaet
(3) &Jt, IHAT FTIT, IAT TSI T (4) F&13T, At St Tt faar I

30

Self study habit can be developed in children by:
(1) citing examples of great people (2) giving lecture on self study
(3) giving your own example (4) making new literature available

30

gfent feu re-mfods &t mreg fan 39t feafis i3t A7 Aaet T
(1) HU™& femadtnt gt Qegst € o (2) AE-mftis Qug Badgg € o
(3)MuSt Gegas € F (4) &=t Arfog Qussy g9=T 9

ENGLISH LANGUAGE - 30 QUESTIONS (31-60)

Read the passage carefully and answer the questions (Q. 31-37) that follow by choosing the best alternative:

What's the computer's mother tongue? Which language does the computer speak? Compuspeak. What is a
conglomeration of computer languages called? Computowers of Babe! Witticisms apart, we do need to
communicate with computers. When the Pentagon wanted a new computer language that could do most of
the routine jobs with ease, it made its scientists look at more than 150 different computer languages that
existed in the United States. After a few months of intensive testing of most of the available languages,
American scientists decided that none of them was suitable for the job. So the US Department of Defense
invented yet another language, making it about the 151st. It then went about searching for a name for the
language. That was not easy either. After going through more than 200 suggested names, the DoD didn't find
anything "precise enough". So, a new female name was picked and the newest computer language was called
ADA. Lady Augusta Ada Lovelace could be considered the world's first computer programmer, the first
software specialist. She was Lord Byron's daughter and the chief inspiration for the world's first computer
engineer, the father of the computer, Charles Stanley Babbage. ADA, the language is quite tough, complex and
highly detailed piece of software and is being adopted to much of the western world's military and space
applications. ADA can work with multiple parameters at one time, is quick, efficient and precise. But the non-
military world does not exactly need ADA to carry on its business. There are about a dozen other more popular
language that fit the bill very well. Though almost all of them seem quite tough, complex and cumbersome to
work on and write with at first sight, they are not tougher than learning a new foreign language and seem
relatively simple once one has a hang of them.

31

After whom, according to the passage, was ADA named?
(1) Lord Byron (2) Stanley Babbage (3) Augusta Lovelace (4) Pentagon
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32

Why did the Pentagon want a new computer language?
(1) to launch simple defense operations (2) to execute routine tasks
(3) to maintain their schedules (4) all of these

33

Why did the DoD find it difficult to choose a name for their new computer language?
(1) no name seemed precise

(2) every name had been already used

(3) they did not have any repository of the available names

(4) they were unable to get approval of the president for the chosen names

34

Why have European militaries adopted ADA?
(1) is easy and simple to use (3) they are under agreement with the US
(3) can work on many parameters at a time (4) all of these

35

Why does the civilian world not need ADA?
(1) other languages are relatively simple (2) other languages are economical
(3) other languages are less complex (4) all of these

36

Identify the word closest in meaning to the word: "PRECISE"
(1) defined (2) permissive (3) mild (4) diffused

37

Identify the word opposite in meaning to the word: "CUMBERSOME"
(1) awkward (2) bulky (3) manageable (4) unwieldy

Read the passage carefully and answer the questions (Q. 38-45) that follow by choosing the best
alternative:

What is the future which awaits our children? The underlying assumption of the question that Indian children
have a common future is itself dubious. It can legitimately be asked whether a student who is well fed,
attending a boarding school in the salubrious climate of the hills, and learning to use computers has any future
in common with a malnourished child who goes to a school with no blackboards, if indeed he does go to
school. The latter may have no worthwhile future at all. And it might be worthwhile to analyze the significance
of this marginalization of more than seventy five percent of the children of this country. The failure to provide
an infrastructure for primary education in the villages of India more than 60 years after independence is in
sharp contrast with the sophisticated institutions, for technical institutes of higher education are funded by the
government, which essentially means that the money to support them comes from taxes. And since indirect
taxation forms a substantial part of the taxes collected by the government, the financial burden is borne by all
the people. L.K.Jha put it graphically when he observed that 25 paise of every rupee spent on educating an lIT
student comes from the pockets of men and women whose children may never enter a proper classroom.

38

The author is trying to highlight which of the following:
(1) the greatness of LK Jha (2) need to have common future for Indian children
(3) need of sophisticated education for rural poor (4) faulty system of direct taxes

39

What seems to be likely answer of the author to the question posed by him in the first sentence of the
passage?

I. there is no common future for the Indian children

II. the future is worthwhile for majority of Indian children

lll. the majority may never enter a proper classroom

(1) only | (2) only 1l (3) only 1 (4) both Iand Il

40

Which of the following pairs have been termed as 'sharp contrast' by the author?

I. Infrastructure for technical education

II. Lack of infrastructure for rural primary schools

Ill. Twenty five paisa of every rupee earned by government is spent on education

IV. the financial burden of higher technical education is borne by all people

(1) nand IV (2) mand 1 (3) MandIv (4)rand Il

41

According to the author, who among the following does not have a hopeful and a prosperous future
I. All students from technical institutes

II. All students financially supported by the government

(1) onlyl (2) only 1l (3) both land i (4) Neither | nor Il

42

Which of the following statements is not true?

I. The author welcomes Govt's initiative on primary education

Il. 75% of the children have a bright future

Ill. 25% cost of educating a technocrat comes from poor people

(1) only| (2) only ll (3) only 11l (4)only land Il
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43 | Identify the word closest in meaning to the word: "DUBIOUS".

(1) unarguable (2) uncertain (3) undoubted (4) undeniable
44 | Identify the word opposite in meaning to the word: "SOPHISTICATED".

(1) complicated (2) stylish (3) difficult (4) facile
45 | What is the major concern reflected in the passage?

(1) the gap between different sections in Indian society is increasing

(2) Indian children do not enjoy common future

(3) both (1) and (2)

(4) only (2)
46 | Language acquisition occurs only when

(1) the child is taught the rules of grammar

(2) the child is given a reward

(3) the child has exposure to the language

(4) the child absorbs the language without conscious attention
47 | Correct pronunciation of individual sounds is related to

(1) Accuracy (2) fluency (3) both accuracy and fluency  (4) neither accuracy nor fluency
48 | For teaching grammar, the best grammar that a teacher can use is

(1) traditional grammar (2) modern grammar (3) pedagogic grammar  (4) no grammar is needed
49 | Organization of arguments and ideas in paragraphs is an important aspect of

(1)writing essays (2) writing memos (3) writing stories (4) writing personal letters
50 | When a child is asked to recite a poem, it can help the teacher to test

(1) knowledge of literature (2) proficiency in speaking

(3) acting talent (4) comprehension
51 | One of the principles of materials preparation for language learning is that

(1) complex materials should be chosen (2) grading of materials should be done

(3) any kind of material can be chosen (4) a small amount of material should be introduced
52 | The structure ‘He goes to school’ is often produced by learners due to

(1) failure of intelligence (2) mother tongue interference

(3) overgeneralization of rules (4) wrong teaching
53 | Atest of listening comprehension is a test of

(1) receptive skill (2) productive skill (3) hearing ability (4) phonology
54 | Mother-tongue influence can be effectively minimised in the classroom by

(1) using the mother-tongue more often

(2) giving examples from the mother tongue

(3) giving a lot of exposure in the target language

(4) giving inputs from the target language in a simple, graded manner
55 | Atest which is administered at the end of a language course is

(1) diagnostic test (2) placement test (3) achievement test (4) memory test
56 | ‘Interactive’ listening is

(1) listening and responding (2) listening for mood and tone

(3) listening for word stress and emphasis (4) listening for finding out speaker’s attitude
57 | Which of the following is an incorrect assumption in language teaching

(1) learners acquire language by trying to use it in real situations

(2) learners’ first language plays an important role in learning

(3) language teaching should have a focus in communicative activities

(4) language teaching should give importance to writing rather than speech
58 | Reading skills can be developed best by

(1) writing answers to questions on the text (2) focusing on the use of words from context in the text

(3) doing vocabulary exercises (4) doing quizzes and playing word games
59 | ‘Brainstorming’ means

(1) to collect all kinds of ideas on a topic (2) to do some mental exercises

(3) to make efforts to understand something (4) to give some kind of stimulus to the brain
60 | Practice of grammatical structures in a controlled manner can be done by

(1) correcting wrong sentences produced by learners  (2) gap-filling grammar exercises
(3) writing paragraphs and essays (4) explaining the use of particular structures
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PUNJABI LANGUAGE — 30 QUESTIONS (61 - 90)

J5 fau U3 & ug & €°39 fe6: (Q. 61-68)

Un & fen gatit i mrert af3s< € mifrg Jrs feg Uer 9 fa €9 Ui & gatit g grmg Afer 91 ufast
fAe oAt 39t €1 fad3 q9aT W3 <37 =S Hies ©F GOn AT, 87 ge gfm €t anret €3 user, Bgf er
&g gAST 3 79 Arfen-aaTed €91 578 UAT aHrEeT 99 fema3t e uan g famnr 3, fem 3¢t nima s feg
fowerara ot 37 fev fauz g3 afews T1 gH-dIt ars 37 feu T fa vors famemdt 3 sehis &9 grat yghmt

F3-a9 Aed ‘T BA-AHTT M dT fanerardt § féee w3 famerag & uret Wt-ut ane 95, g BT vy iy §
fameraTat adt Fae; Mue T& U& & MrueT »as & aHTel - fermar & g3 €xe I& | fam uH =t faarg
HTae TF, AT U™ BareT J fa amat, datit, mits-mrfeere, »md Gar feg uss 3 eF a9t €t faes &
3t g a4t | fen Bt ST, wrdtit 3 S9itt &t B3 J| fgaeardnt § YT 2 J I9 §€ € At 9T
#rer J fa €9 ot T5-U9 Ha 521
61 | myat gatut feu fagst gt yurs 37
(1) UAT yggeT (2) gfrpt T ¥ gA o TAT arger (3) sH& (4) Ba-feyrer
62 | vgy Ui U@ eT-aurg@er faF U9 fapur 37
(1) s '3 Q) asa feg
3) oAUz feg (4) U &t gahrt feg grrm fapr §
63 | yfawst vy & GEm &t Ai?
(1) feg@ sfger () ozt gt 'gafger  (3) @A gt €t faes JasT (4) ga gBHeT
64 | mewt '3 vg d fgpewe § de féeer 37
(1) WM™ A&3T (2) fgmergrat M3 Fes (3) =3 (4) AgAd
65 | fgaerardt mruSt avEt g9 af AET I8
(1) TI-AT &t aHret (2) MIB-feHmar &t JaHg
(3) y&-urla &F anret (4) UGHTIHT T IS
66 | ‘sfga< v g’ I& fafnr '§° ot &
(1) yar=ar (2) TIH (3) ferme (4) myrE
67 | faara’ e &t vgg I?
(1) nyt (2) femt (3) 3Hd (4) fem
68 | g ur ga<t fAedy at J Aaer I?
(1) FEH=T (2) $5 §8aT (3) JgT-gdt (4) faaerarg
J5 fau U9 § g @ yAst € €39 fe6: (Q. 69-75)
»HE e feg sifgesr, WG Tatt = s ey a9'!
grare J feg Ia<ia @, 3 fesy J Iedld <t
" IBH € fTg »s &t fimrdt 99| ensus &3 !
SeI3 @ IV I I T, FEI3 S BT I T
3Jdd &7 Bdl, [edH &, 39dd BT IBH &
few T fograr 78 Ao< Ud | EHEI 94 |
e fa fier wideimt, »r< fa W3t arstrt
6¢ A% € T=ATIG, 6F &9 @ TeAIE
WH vy ferd § 7THE U3 | eR3y3 dd
69 | few afesr fg at g&ar fe'3T fapar 97
(1) ferrseat e (2) MH& &7 (3) AT §BE € (4) e furrg &7
70 | gatut Trfent § fan nifges™ €3 ersuz T35 Bt fagr faprr 37
(1) 38d3 & (2) EH SISt & (3) mMHE € (4) fgHeag &
71 | ‘gun @ f& mis €t fiarat 39° arfe Gat ot fast § mus € it g9 wet faar faprr 37
(1) ™ BT & 2) THsEEs & (3) Buyat & (4) EW gII3* &
72 | faw dt\ § 8999 a4t BaIet IateEl?
() fesHnm3 aand (2)end 3)8at & (4) &=t &
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73 | ‘wifges™e e ot »ag I?
(1) MHe™ (2) yf3famr-uza (3) Iedtg (4) MHE
74 | ‘guw’ F &t FrE I?
(1)e" (2) ITHET (3) B (4) Bu
75 | ‘gedte’ € &t mag 97
(1) A3 (2) 3a<td (3) fema (4) s
76 | mmet fenmst 7% faatit Bart saretit 957
(1) 8 (2)5 (3)3 (4) 10
77 | {wret feg qo 95 -
(< 2) 3= (3)99 4)I=
78 | ¥ fou nget fES* fags™ mirsT9ed Hee &4t &
(1) Gunr (2) HBTWT (3) f&fenr (4) yFmT
79 | ¥ fou Tat {9 fagsr a3 &
(1) forft & WSt e B T (2) mrt g ute gt
B)TAATATS d (4) Tet & 398 feg &5
80 | faua =ma fe'w fenfia fog €t ata =a3* get I?
(HWTFIg3sdfarr ()T FIs@dfarr )T FW!Tfammr (4) T 3 3B T fapm!
81 | A=t ITHT € AGHETST I fagst 37
(1) IHs (2) <fea Fmfaz (3) fa<ht (4) gTart
82 | {mret 3T § foue et faust feut ga=t 97
(1) HraHt (2) & (3) S=&TarEt (4) graudt
83 | graa fda yae € §€ g7
(1) s Q) Ag (3) i 4) f3s
84 | ‘yaTH™ mEw &< <t fami &
(1) ¥yH &= (2) Mo &= (3) feads=ga &= (4) =TI 5=
85 | Afipreraa fermes Thnt famit Jetnt os:
(1)"9 Q) i= 3)s 4) R
86 | g93" ¥ mMrurd 3 AU Tt famit et o5
(1) fex )€ (3) i 4) f3s
87 | gwT, HaT, ATST HEw J& f&funt feg” at a&?
(1) uzste (2) fafqmr (3) &= (4) femms
88 | I& fafymt feS fernme fags a57?
(1) U, ot (2) 9o, TBT (3) g9, feg (4) Hfdeq, pfaeq
89 | ‘garst’ mge T fequt maw g
(1) A (2) MEE (3) €9 (4) A=d
90 | FouH1g guTeg 31 T feu Anaait fafes faost 9
(3J (2) AIEHIZ (3) sUT=g (4) &t & &t
SECTION - B
MATHEMATICS AND SCIENCE (BILINGUAL) — 60 QUESTIONS (91-150)
91 | Set of rational numbers is a subset of
(1) natural number (2) integers (3) real numbers (4) an irrational number
91 | ufady #fymr e A faw o ferr 3
(1) U5 Ya& #d (2) Ya& #d (3) Tm3feq Afgmr (4) mufarmr Afgmr
92 | T—¢€ijs

(1) a positive rational number
(3) anirrational number

(2) a negative rational number
(4) both rational as well as irrational
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92 T—e%

(1) TETIH Ufarnt Afeenr (2) facana ufaro Afnr

(3) mufar Afamr (4) E< Ufarn W3 mufar Afenr
93 24 +

If 24x is a multiple of 9, where X is a digit, then what is the value of * ?

(1)6 (2)3 (3)9 (4)4
93 24 x P o a . o =

g 24x 9 TTIIEH I, fam X fea #a I, 3t XET yE & I=ar

(1) 6 (2)3 3)9 (4)4
94 -1 (y+2)=

If (x 1 y+2) 7, X and Y being positive whole numbers, then the values of * and Y are

(1) 8,5 (2) 15,12 (3) 22,19 (4) none of these
94 = - = =Y o . -~ =~ v

T-rV(x Dy+2)=7 , X w3V usTIHd Yes W 95 IS T HE I

(1)8,5 (2) 15, 12 (3) 22,19 (4) fegt feg aet &t &t
95

\/5 + \/g’ \/5 + \/g’ \/g’ ‘/ﬁ - \/5 are four numbers. When written in ascending order, these are

(3) \/g,\/g+\/§,\/ﬁ—\/§,\/5+\/g (4) \/ﬁ—\/g'\/g,\/z+\/g,\/§+\/§
95 o - . A .

V3445, V2446, V8. J11-43 79 AftmT 95| 7S feggt § 999 Qi fev fafnr Aier 3, 3t feg 05
96 The missing number in the sequence 1,2,3,6,% 20,37, 68 is

(1) 6 (2)9 (3) 10 (4) 11
9 | 1, 2,3, 6, %, 20, 37, 68 & 5=t f=g arfes &

(1) 6 (2)9 (3) 10 (4) 11
97 Let 7 and " are whole numbers. If 71" = 121,the value of " is

(1) 512 (2) 1024 (3) 2048 (4) 4096
7 | he8e M3 nygsamasia m' =121 gt n" erywd:

(1) 512 (2) 1024 (3) 2048 (4) 4096
o8 14 3

The product of two fractions is 15 and their quotient is 24 The greater fraction is

4 7 7 7

(1) 3 (2) 6 (3) 4 (4) 3
o8 14 35

g fost erareaes 10 w3 fegt ergmar-aw 24 &) S5 &

4 7 7 7

1) 5 (2) 6 (3) 4 4) 3
99 | Ihe value of V0-01++/0.81++/1.21 ++/0.0009 ;

(1) 2.03 (2)2.1 (3)2.11 (4)2.13
9 | 0.01++0.81+~1.21++/0.0009 gr iz 3

(1) 2.03 (2) 2.1 (3) 2.11 (4) 2.13
100 | The cube root of 0-000216 jg

(1) .6 (2) .06 (3) .006 (4) none of

these
100 | 0.000216 gr wE-yE T

(1) .6 (2) .06 (3) .006 (4) fegt feg aet <t &t
101 | If selling price is doubled, the profit triples. Then the profit percent is
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2 1

66— 105—
1 3 (2) 100 3) 3 (4) 120
101 | & fS'qat o3 garst a9 fest Afet T 3F yaTer f3greT § AeT 31 3T Ho'e e yfsma &
2 1
66— 105—
1) 3 (2) 100 3 3 (4) 120
102 | A shopkeeper sold an article offering a discount of 5 % and earned a profit of 23.5%. What would have
been the percentage of profit earned if no discount was offered?
(1) 24.5 (2) 28.5 (3) 30 (4) 35
102 | feq gaTae™d & feaq THZ 5% € ¢ € UHTH 3 91 3 23.5% H&"eT afenT| 7 det &< &7 fe St Afet, 3t
@ne aHE Ha'R €t yf3nzsT af get:
(1) 24.5 (2) 28.5 (3) 30 (4) 35
103 | The difference between compound interest and simple interest on an amount of Rs. 15, 000 for 2 years
is Rs. 96. What is the rate of interest per annum?
(1) 8 (2) 10 (3) 12 (4) 14
103 | 15, 000 FU¥ € 3aH I 2 ATST et Taaf<ut foua W3 AUas few W39 96 JUT J1 Yf3 <or ferm e ot
b
(1) 8 (2) 10 (3) 12 (4) 14
104 | A sum of money is borrowed and paid back in two annual installments of Rs. 882 each along with 5%
compound interest. The sum borrowed was
(1) Rs. 1620 (2) Rs. 1640 (3) Rs. 1680 (4) Rs. 1700
104 | g5 UR €urd BT ATS I& MI 882/- JUT Tt € AETaT fanat few, 79d fana &% 5% adfeut Afaa,
TYA a9 fe3 AT 95| Gure BEt 9o fast A
(1) 1620/- FuE (2) 1640/- guE (3) 1680/- FuE (4) 1700/- JuUE
105 The polynomial f(x) has a double root -1, single roots 1 and 0. Then f(x) is
2 2 2 2 2
(1) (x=1)° (x+1) (2) x(x=1) (x+1) (3) x(x+1)* (x=1) (4) * (x+1)(x-1)
105 fea ggue f(x)?éaafgs-1,€!a$)=m1 W3 0I5 3IF fx) J:
_ 2 _ 2 2 _ 2 _ 2
(1) (x 1) (x+l) (2)x(x 1) (x+1) (3)x(x+1) (x 1) (a) X (x+l)(x 1)
106 3_ 3 3
If (a+b) =a’ +b . then
(1) ab>0 (2) ab<0 (3) a=04,0=0,a=-b (4) none of these
3 ;
106 F (a+b) =a’ +b3’3.i.
(1) ab>0 (2) ab<0 3407 0=0ga=-b (4) fegt fs Gt =t &t
107 Two numbers are in the ratio 3:5 . If 9 is subtracted from each, the new numbers are in the
ratio12 123 . Then smaller number is
(1) 27 (2) 33 (3) 49 (4) 55
107 | & Afgr 3:5 @ wigu3 feu 95| 7 99 fe9 9 wer a3 Afer I, 3T st Afn 12:23 € wiguT3 feg 751
2 A 3
(1) 27 (2) 33 (3) 49 (4) 55
Seats for Mathematics, Physics and Biology in a school are in the ratio 7% Thereisa proposal to
108 f h . hvsi d Biol . hool in th .578h I
increase these seats by 40%, 50% and 75% respectively, what will be the new ratio?
(1) 2:3:4 2) 6:7:8 (3) 6:8:9 (4) none of these
108 | feq Ag® few aifea-fefams, Ff3a fefaris M3 Fie-fefamrs &t Aiet 5:7:8 € migurs fev o5 | fegt
Tt Fitet FHTTT 40%, 50% M3 75% TUET BT YAI'E J1 5 MFU3 &t g9
(1) 2:3:4 (2) 6:7:8 (3) 6:8:9 (4) fegt feg aet =t &t
109 | Number of vertices and edges in a cuboids are
(1) 6,6 (2) 6,12 (3) 8,12 (4)6,8
109 | gave feg et ffent »I a9t e Afunr I5:
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(1) 6,6 (2) 6,12 (3) 8, 12 (4) 6,8

110 o — _9Y — ' o
In aAABC,lA =X, 4B = (3x 2) and £C=y .Also £C—ZB =9 Then the value of ZB is
(1) 73 2) 82 (3) 25 (4) 49
10 oy AABC g 414:)60,43:(3“_2) w3 £C=Y  LC-2B=9"gt 3 gt feg £B THE T
(1) 73° (2) 82° (3) 25° (4) 49°
111 | If four sides of a quadrilateral ABCD are tangential to a circle, then
(1) AC+AD=BD+CD (2) AB+CD=BC+AD (3) AB+CD=AC+BC (4) AC+AD=BC+DB
111 | 5 93997 ABCD &t g9 gare ez € Ayswt 05, 3t
(1) AC+AD=BD+CD (2) AB+CD=BC+AD (3) AB+CD=AC+BC (4) AC+AD=BC+DB
112 | If a cone and a sphere have equal radii and have equal volumes, then the ratio between the height of
the cone and the diameter of the sphere is
(1)1:1 (2)1:2 (3)2:1 (4)3:2
112 | § fea d& M3 I8 € IS formATag M3 NS Mfeds I, 3t & ©f 89t w3 38 © fenm feg mizus
3
(1) 1:2 (2)1:2 (3)2:1 (4)3:2
113 | The perimeter of a circle is equal to the perimeter of a square. Then their area are in the ratio (use
22
T=—
7)
(1)4:1 (2)11:7 (3)14: 11 (4)22:7
113 )
# feg e ufoy, =gar @ ufowry € geae 3, 37 fegt € 439ew fan gura feg 05 ( T gryGarad)
(1) 4: 1 (2)11: 7 (3) 14: 11 (4)22:7
114 | The mean of the distribution in which observations are 1, 2, 3, ---n is
n(n+2) (n +1)
(1) 2 2) 2 (3) n(n+2) (4) n(n+l)
114 | Sz S uing, fArfeg Que 1, 2,3,-n 35,693
n(n+2) (n+1)
(1) 2 2) 2 (3) n(n+2) (a) n(n+1)
115 N_c
[+-2 X1
To find the median of the continuous series, we use the formula: Median= f , here C denotes
the
(1) cumulative frequency of the median class
(2) frequency of the median class
(3) cumulative frequency of the class preceding the median class
(4) frequency of the class preceding the median class
115 N_c
[+2 %
WY BT T HIZTHE HTEH F9& BET, wiHt Histis f e gIgeryharaee ot ifed Cervasy
3
(1) Hists det &t Afes w3t (2) Hsts det &t mrfest
(3) gt 3t 3 yaust J1 & Afax nifest (4) gt et 3 yguat JF &t mirfedt
116 | The nature of mathematics understanding is
(1) difficult (2) simple (3) logical (4) ornamental
116 | affea-fefarrs € §u €t yfaast &
(1) yafas (2) Ae® (3) 3afaa (4) A=Y
117 | The most effective teaching aid in mathematics is
(1) audio aid (2) visual aid (3) chalk and talk method (4) none of these
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117 | afe3 few wf3 ygreardt niomys €3 3
(1) Mf3€ a3 (2) fegn® €5 (3) T9 w3 oz fedt  (4) fegt fes It <t &<t
118 | Which of the following factors is the most important in planning class-room learning activities?
(1) motivation (2) discipline (3) lesson outlines (4) audio-visual aids
118 | gum™gH fAfum -yrust arstfedtnt € Grsrdet few wfg vo's=eyes a9a fagsT o
(1) mfsyas (2) MESHAS (3) U € gu-gur (4) mrfsG-fegms S5v
119 | Evaluation of the subjects should be based on
(1) annual external tests (2) both internal and external tests
(3) internal test (4) none of these
119 | fefimt e ystae fan Gua der odter &
(1) ArSTST gTIdt UdtuE (2) €< wii3faq w3 g7gat udhue
(3) »i3faa udtu= (4) fegt feg" aet <t &t
120 | The main aims of questioning in the classrooms are
(1) to create interest and curiosity (2) to motivate the students
(3) to test the previous knowledge (4) all of the above
120 | gmmgH fes YA yes e" U €EF
(1) fesamut w3 €3Fa3T UeT daaT (2) fefenraegtmt & Ufea aasT
(3) y9gd famrs & Ugy JaaT (4) Budaz A9 It
121 | Which of the following bacteria is found in Ganga water?
(1) Coliform bacteria (2) Streptococcus bacteria
(3) Staphylococcus bacteria (4) Diplococcus bacteria
121 | 3o fafumt fe§ fagsr fiere der € uet feu fiser o
(1) Coliform #IS™E  (2) Streptococcus HI=R™E  (3) Staphylococcus #IR'E€  (4) Diplodocus HITTE
122 | The presence of starch in raw food can be tested with
(1) Dil. lodine solution (2) Dil. HCl solution (3) Dil. NaOH solution (4) All of these
122 | g9 w9 feg Aeew € Hgeai & yay fan 7% &=t A7 Aaet 3
(1) Dil. MfeEsts ws  (2) Dil. HCl W& (3) Dil. NaOH W& (4) Qudaz Ara Tt
123 | How many times a solution of pH = 3 be diluted to get a solution of pH = 6?
(1) 2 (2) 10 (3) 100 (4) 1000
123 | pH = 6 & WS YTuI T35 BE pH = 3  WH § faat =9 uU3s™ qoaT I=am
(1) 2 (2) 10 (3) 100 (4) 1000
124 | The acid present in the ant sting is
(1) Ethanoic acid (2) Methanoic acid (3) Citric acid (4) Tarteric acid
124 | =t @ Far feg ige A 3
(1) Sardnfeq #fas  (2) Wiasnrfea ifrg  (3) fafea #ifas (4) grgefad mins
125 | Which of the following is a sulfide ore?
(1) Bauxite (2) Haematite (3) Cuprite (4) Iron pyrites
125 | g5 fafumt o9’ faast neeets g &
(1) SamTete (2) InreTEte (3) faGQuarete (4) &7 yfergten
126 | Which of the following does not conduct electricity?
(1) Fused NacCl (2) Solid NaCl (3) Brine solution (4) copper
126 | & fafimt feg* faosT faast e o@a adt T
(1) fe@#3 NaCl (2) 87 NaCl (3) grets Ws (4) 3T
127 | In moving from outer most shell to inner most shell, the energy of shells
(1) increases (2) Decreases (3) remains same (4) Cannot be predicted
127 | pg 3 97998 % 3 Ag 3 Weds §% 3T A feu iw' € Garm
(1) =Tt § (2) weet I (3) A& Ifdet T (4) SfSy 7=t &4t St A7 AaEt
128 | An element X shows a valency of 3 and 5. The formula of its sulphides in the two states are respectively
(1) XS ,XS; (2) XS5, XSs (3) X3S, XsS (4) X553, X555
128 | X g 3 M3 5 €t HEWI3T SaRQeEr J1 € wiengret feu fen € AseElst e gHeT AT O
(1) XS ,XS;3 (2) XS3, XS5 (3) X3S, Xs5S (4) X,S3, X,S5
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129 | Metal which is a constituent of Haemoglobin?
(1) Cu (2) Al (3)Zn (4) Fe
129 | grg, fAadt dhiodfas e war 3
(1) Cu (2) Al (3)2Zn (4) Fe
130 | Which of the following is used for making insulation of electric wires?
(1) bakelite (2) isoprene (3) neoprene (4) Thiokol
130 | faamt €t Irat v fawst 3o gl BEt 35 fafnt fes fan €t a3 A3t Aiet &
(1) gg&TEe (2) mirferyts (3) s1ts (4) grfeGas
131 | The evaporation of water takes place from the leaves of the plants. The process is called
(1) Evaporation (2) Transpiration (3) Dehumidification  (4) Fumigation
131 | Jfewt € ufam 3 Taulaes der J| fer yfgmr § e gs:
(1) Tmiiaas (2) THY AT (3) fe-artaas (4) Gfads
132 | If the energy available to the plants from the sun is 20,000). What would be the energy available to the
lion in the food chain, Plant-> Dear- Lion
(1) 20! (2) 200J (3) 2000J (4) 20000J
132 | & gow 3 Ufewt § Qusay €7 20,0001 I 3T wrorg-Bt few A9 § Quway Ganr faat It
Jer->foes->He
(1) 20 (2) 200) (3) 2000J (4) 20000J
133 | Copper obtained from copper pyrite is called blister copper. Gas responsible for the formation of
blister is
(1) co, (2) co (3)NO, (4) SO,
133 | gryg ufermeie 3 YUz 37 (F7U9) § SfEHeT auT »e I&| afenes s &e fileg dam &
(1) co, (2) co (3) NO, (4) so,
134 | Arrange methane, ethane, propane and butane in order of increasing boiling points
(1) butane<propane<ethane<methane (2) ethane< methane< propane< butane
(3) methane<ethane< propane< butane (4) methane>ethane< propane< butane
134 | =g 39 Guse—wat € qH feu Wigs, e, Jus w3 fa@es § sedtu feb
(1) fe€es < {is < &tus < Higs (2) HiEs < ggs < YUs < faes
(3) Higs < SEs < JUs < faes (4) Higs > €ds < Jus < fages
135 | An atom of calcium has a mass of 6.64X 10g. The number of calcium atom present in 10g of calcium is
(1) 1.5 X 10% (2)1.5x10% (3) 6.023 X 10% (4) 2.4 x10*
135 | 3BHMMY € UIHTE B E@H'S 6.64X 107°g T 10g ABHPHH e dBHMHH & UaHgwt €t farest &:
(1) 1.5 X 10* (2) 1.5x 10 (3) 6.023 X 10* (4) 2.4 x10**
136 | A metal X is low in the reactivity series X can be obtained from its compounds by
(1) reduction by heating (2) heating with reducing agent
(3) electrolytic reduction (4) None of these
136 | wifgfammitaaT B3t few urg x wmy 31 few € wfgat 3° x fanw avdt yruz a3 7 Ager &
(1) IUE 58 BWAIS (2) BYWITT EHE 'S IUS
(3) feBaefafea swads (4) Budaz fev Jet &t &t
137 | The process of separating suspended impurities from water is known as
(1) Loading (2) Unloading (3) Distillation (4) Demineralisation
137 | yrat feg* Igetut mig utit § Y d96 € Yfepnr § mmue 9s:
(1) Bfsar (2) MEBISar (3) FHtEE (4) feg-ufertags
138 | Which two of the following compounds belong to the same homologous series?
(1) C,HgO, and C,HO (2) C¢HgO, and CH,O (3) C,HgO and CH,0 (4) C,HGO and C,Hg
138 | 5 fafumt feg faua € dfoa s AHATST B3t &7 Agfug Is:
(1) GHgO, M3 CHO  (2) CeHgO, M3 CH,0  (3) C,HgO M3 CH,0 (4) C,HgO M3 C,He
139 | A cart of mass 500Kg is pulled by a horse and acceleration produced in it is 4m\sec® . The force exerted
by the horse is
(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) None of these
139

500Kg SN € feq 38 § Wz fu'ger I M3 fen feu 30w ar3t-29us am\sed® 1 WS TF° Barfen 55
3
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(1) 2000 N (2) 2000kgwt (3) 2000 dynes (4) Qudaz feg' It <t 5t

140 | A body of mass 2kg is thrown up vertically with a kinetic energy of 490J. The height at which the kinetic
energy of the body becomes half of the initial value is (g=9.8m\s?)
(1) 10m (2)12.5m (3) 25m (4) 50m
140 | 2kg Eorms ur fea iz 490) aifaw G9nr 5% Qua 5 Bfenw aier § | fan et €3 fis &t arfsw Qaar
MIIT U I w Ut afg Atet 3, €9 3: (g=9.8m\s?)
(1) 10m (2)12.5m (3) 25m (4) 50m
141 | A magnetic field line
(1) is the path along which a free north pole tend to move
(2) is the path along which a free iron particle tends to move
(3) is the path along which a magnetic needle tends to move
(4) is the path along which a line is traced
141 ggat 439 JuT
(1) €T Haar J fAn € &% F339 €371 uge I5< et yfeaz ger g
(2) €9 HgaT I fAR € 5% A339 &9 d< I%< Bel Yfeaz e g
(3) 8T HaaT J AR € &% Y94t et 98 et yfeds Je1 9
(4) 8T Waar I fAR € &% gur fu<t A<t J1
142 | A body in uniform motion in one dimension moves from a position X; at time t; to another position X,
at time t,. Which of the statement is wrong for this motion?
(1) Actual distance covered in time t; to t, is magnitude of displacement
(2) The velocity calculated by making any choices for t; and t, always give the same result
(3) A larger value of the difference t,-t; will give a small value of velocity because velocity is obtained by
dividing t,-t;
(4) A larger value of X,- X; will give same value of velocity as a smaller value
142 | feq fenr feu feanme ot &7 fea iz t, mi* 3 X, Afadt §° ¢, 3 fea 39 Afast x, =% seer I fen ot
TR faozT qus aI &
(1) AT t;, 3 AN t, 3 3 F1St Tw3fed gt feraus e ufane 7
(2) t; M3 t, B T I II& THI UfGABTUZ FIT IHAT ANTS Ufde™ yes gaer I
(3) ty, t, € 3T T TAOW WS, I9T € MBU U Ye's Jdar fa@fat, - t, St 3 IFyuz ger g
(4) Xo= X, € TIoW H'S, MBU HS T =T € IS H S YT'& ddar|
143 | A 1000w heater is used every day for 90 minutes. This heater will consume units of electrical energy in
30 days
(1) 45 units (2) 90 units (3) 30 units (4) 60 units
143 | 1000w ¥ dteT € g9 37 90 fitet Bt Ta3" 1t AEt 71 fev dieg 30 fest feu fammet Gonr € fad giset
€ Yy gdar:
(1) 45 gfae (2) 90 Gfae (3) 30 gfae (4) 60 Gfae
144 | If the diameter of the earth becomes two times its present value and its mass remains unchanged,
then the weight of an object on the surface of the earth becomes
(1) one eighth (2) one fourth (3) half (4) remains same
144 | & fyg<h e for™ fer @ T9as ¥'E 3 € ISt T Ater I 3 fen v e ons wges 3fder 9, 3° fyg<t <t
A39 €T yeTdy €T 99 g AiET O
(1) feg-nis=t (2) fegr-gaet (3) miTr (4) A& 3fder T
145 | The direction of force acting on a current carrying conductor placed in magnetic field is determined by
(1) Right hand thumb rule (2) Cork screw rule
(3) Fleming’s right hand rule (4) Fleming’s left hand rule
145 | guat 439 few 3% wor-=q o5d 3 fPuHls 95 €t fenr fan g fseurfes atst At O
(1) AR-g 8" #gieT feoH (2) 9T AFE fam
(3) gBfiar wr Ha-Tar fawmt (4) eBfitar & ¥g-TTr faw
146 | Which part of the eye is adjustable in accordance with the light conditions?

(1) Iris (2) Retina (3) Pupil (4) Lens
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146

YT Tt TTB3T MgHTT MY T fqusT 9T iggsStdr geT &

(1) My-yzst &t fest (2) MY T yger (3) niy <t y3&T (4) B&T
147 | There is no atmosphere on the moon because
(1) it is close to the earth (2) it revolves around the earth
(3) its acceleration due to gravity is low (4) its acceleration due to gravity is high
147 | ¥= Gy 3¢t T 13® &4t I fagfa
(1) fegfygst e &3 9 (2) fev fugst erd Wer I
(3) I3 g9 fen e ISt =9us fors I (4) I3 g9 fen e arSt-<9us €9 9
148 | If the mass of both the bodies is reduced to half. The gravitational force between them becomes
(1) Double (2) Four times (3) One fourth (4) one-half
148 | 51 €gf izt € €oWs § wWer & »ur g9 fesT Afer J, 3 feqt fev ggs™ Ma9ne g AieT &
(1) &gt (2) g9-Fret (3) fear-garet (4) wiTr
149 | Which colour component of white light is deviated the most through a prism
(1) Red (2) Yellow (3) Blue (4) Violet
149 | fg'¢ yam e fagsT dar 33 fygp adt A 3 v fesfez Jer a:
1) &8 (2) utsT (3) &tBT (4) FIrst
150 | A body moving in a circle travels distance which is directly proportional to time. The body travels with
(1) Zero velocity (2) Constant speed (3) uniform velocity (4) constant acceleration
150 | fez feu % four fiz gdt 3 qeer I fAost AT 39 3 AN € nigu's feu 31 fis fan 5 95 foor o
(1) §&W =91 (2) Afga =ar (3) feanrg =ar (4) Afgd Ir3t-=9us
SOCIAL STUDIES / SOCIAL SCIENCES (BILINGUAL) — 60 QUESTIONS (91 — 150)
91 | When does history begin?
(1) when human civilization begins (2) when human memory begins
(3) when written sources become available (4) all of these
91 |fefsgmae ggderd:
(1) 7E" WG 4t AfgH3T &7 mag ger I (2) HE W 4t faHast & mag der T
(3) 7ie feu3t A3 Qusay Je 05 (4) Qudag AT Tt
92 | In terms of history which is the proper chronological order
(1) Paleolithic, Megalithic, Microlithic, Neolithic (2) Neolithic, Megalithic, paleolithic, Microlithic
(3) Paleolithic, Neolithic, Microlithic, Megalithic (4) Microlithic, Neolithic, Megalithic, Paleolithic
92 | fefgom € gy few €fe3 Tragfiia ety faust 3
(1) YIT-U'Hg, HU™-UHF, FUH-UHEd, 32-UEd  (2) 32-UHEd , HU™-UHd, YdT-UHg, FuH-UEd
(3) YIT-U'Hd, 5-UHJ , FUH-UHd, HU™-UEd  (4) FYH-UEd, S-UEJ , HI™-UHd, YdI-Uad
93 | Where rice was first domesticated?
(1) Antarctica (2) South Asia (3) America (4) Europe
93 | gres & aw3 ufost faa it aret :
(1) #egafear (2) Syt EHPAT (3) ndtar (4)gau
94 | The second urbanization in India is supposed to have happened approximately in the 6" century BCE.
When did the first urbanization happen, approximately?
(1) 2500 BCE (2) 1200 BCE (3) 1000 BCE (4) 900 BCE
94 | g9z feg g™ Afgdtads Ba=ar 6-=t AEt BCE few 3fewm fifamr ater 3 | ufosT afgdtaes samgar as
Jfemr:
(1) 2500 BCE (2) 1200 BCE (3) 1000 BCE (4) 900 BCE
95 | The first state systems in India were formed in which region
(1) Kaveri valley (2) Narmada valley (3) All of these (4) Ganga-Yamuna doab
95 | ga3 feu ufast ow feene faus yen feu gt aret :
(1) Frat wret (2) aHET Wt (3) Qudaz A9 It (4) FrET THET SwrET
96 | Ashoka’s dhamma was
(1) A principle of good conduct (2) Anideology
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(3) A set of ideas propagated by emperor Ashoka (4) All of these

96 | mEa e 4% At :
(1) 991 Mrgd< & a3 (2) fex fegraurar
(3R AMETe &8 YId fegat &7 Ae (4) Quda3 Arg &t
97 | Who was Pliny?
(1) A poet who wrote on the history of India
(2) A warrior King who settled in Afghanistan
(3) A Roman scholar who mentioned India as a trading nation trading with the Roman empire
(4) All the above
97 | yzfeat d= At :
(1) fea a<t fan & 9793 © fefaam g9 fafmr
(2) GUT geAY fAusT miearfana s feg mrgre gfemr
(3) In& feoes fAN & 9793 ©7 THE AHT™H 578 TUTT Jds T8 SUTH ITHST S8 IS J13T
(4) Budas A It
98 | The empire of King Harsha was spread over
(1) The area from the southern sea to the northern mountains (2) The western sea to the eastern sea
(3) The Ganga Yamuna valley (4) Afghanistan to Assam
98 | graAT gow € ATHaH faE I e Jfemr Fit
(1) Syt A9 3 €3 ugest 39 = fewmar (2) UeH! A9Ie 3° Yast Aae 3T
(3) IO GHET Wt 3 (4) WA T&AI™S 3 WA 3T
99 | What was common to the following scholars from Ancient India: Apastamba, Baudhayana, Katyayana,
Manava, Panini, Pingala, Yajnavalkya
(1) They were astronomers (2) They were grammarians
(3) They were poets (4) They were mathematicians
9 | y&ts 993 € 35 fau feeest feu faust ars Aivt At :
(1) 8T yIis-fefarrst is (2) €0 fomags-rA3dtAs (3) 80 a<stAs  (4) 87 afe3-AA34dt A
100 | The Slave Dynasty consisted of
(1) A single family which had obtained its freedom from slavery
(2) A number of unrelated families whose founder was a slave soldier in service of the king
(3) The slaves of Indian ruler
(4) None of the above
100 | g &x few Afufea T :
(1) feasT ufgeTa fAR & EH3T 3 FI393 Y3 i3t At
(2) 993 A9 migfug ufgema fam €7 Het o+ & AT &9 foor e fauat
(3) 93T HHA & IB™H
(4) Qudas fev aet &t
101 | The Buland Darwaza was built to
(1) Celebrate the birth of the heir to the throne of Agra  (2) Commemorate the conquest of Gujarat
(3) Honour the Chishti saints (4) All of the above
101 | g&w wo=mwr fan T3 ge<fomr famrr At -
(1) Mad & U3 & TTfIH & A& fes Ha8= &t (2) T3 & fA3 & HaBe et
(3) foust A3t € AaH™s Bt (4) Qudazs A9 Tt
102 | The name of the regent who reigned for Akbar was
(1) Humayun (2) Babur (3) Bayram Khan (4) Salim
102 | @ die'e = ot &1 Ft fAR & Wa9d THI ATHS 13T :
(1) g (2) g8 (3) I ut (4) ABM
103 | The Gateway of India, the India Gate and the Teen Murti were built

(1) To welcome George V, to honour the war fatalities of the Indian army, fatalities in the First World War
respectively

(2) To welcome the English King, to welcome the English Viceroy, to welcome the Prince of Wales respectively
(3) To honour the English Queen Victoria, to celebrate the victory in the First World War and to honour those
slain in the Second World War respectively
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(4) none of these

103

g9 T Jies, &S die w3 Jts Yot fan T3 geeE ae

(1) IHT 77aH V € IHTaI3 BET, 37931 At &t @ feg Iehit 3t € rans &et, ufod fere g few getmt
H3' et

(2) IHIT MITIH TTEHT € HATIIS BET, MIIH STEATTE € FHII3 BE1, T8d € IAGHS € FHII3 et

(3) IH=T MAGH HO'I'ST fededhT € AaHTs Bet, Ufod fere g u few A3 § WaEe s8¢t 3 €5f € Ao
&e! fros e fere U feg W9 I s

(4) Quias feg' adt & =t

104

The strength of the Mughal imperial system lay in
(1) Its harsh laws (2) The mansabdari system
(3) Its ability to be paternalistic (4) The cooperation extended to it by other Indian rulers

104

HIT® AHaTHT Y& & Hagst faw feg At :
(1) fen € 39 I45 (2) HEHEETdT YET
(3) fugdlert de <t fem & GarsT (4) fen & gv g9t AAat @8 fe 3T Afawar

105

The Singh Sabha movement was broadly begun in the
(1) eighteenth century (2) twentieth century
(3) nineteenth century (4) twenty first century

105

firwr AT Bfge He 99 3 a< g 991 :
(1) 18 =T A<t (2) 20 < A<t (3) 19 =T A<t (4) 21 < A<t

106

Identify the correct time sequence for the following:
(1) Guru Har Krishan, Guru Har Rai, Guru Har Gobind  (2) Guru Angad, Guru Har Gobind, Guru Amar Das
(3) Guru Nanak, Guru Angad, Guru Har Gobind (4) all of these

106

35 fafprt € Aot - & ue'e dq:
(1) 39 JIfgHE, I1F I9 ITfE, I IIdifee (2) 919 WaTE, JIg IIIHE , I MIHE™
(3) IQ 575, IG WaIE, G g (4) Qudaz A9 Tt

107

What is common to Fakir Azizuddin, Diwan Moti Ram and Claude Auguste Court
(1) They were astronomers of considerable reputation

(2) They were employed by Maharaja Ranjit Singh

(3) They were soldiers of fortune

(4) All of these

107

=19 wiwlig s, €ies H3t I w3 a8Ts MTame dde feg at Aig & :
(1) €9 femm yfrdt =8 wdis-fefarrst A5 (2) 8T HodT a3 fiw € FanaTdt As
(3) Gu o= e faudt s (4) Quaa3z Arg It

108

When the government was faced with customs that were different to the laws that it enacted it
allowed them to exist under the name of ‘customary law’. Custom here was defined as

(1) Something that had been practiced since ‘time immemorial’

(2) A practice on which there was social unanimity

(3) A belief that was backed by the khaps

(4) A practice that was part of the history of the people

108

7Y AIEd § 9ot € AOHST adaT fun fAust fern @8 see ags 3 f9a /l, 3T fen s fer § YEes ads’ €
&t @ w3913 Ifae fear | feq yur § fae* ufgerfaa st fapum At :

(1) fAm Ir% e 993 AHT UfasT I wmaas AigT fapm I (2) wifAgT fesara fan Sua mmAa AeaSt /it

(3) ivigT feme™ A €7 AHgEsS YUt 28 J13T fapd™ At (4) »ifror fesgre fagaT &at € fefsgm e fomr At

109

The revolt of 1857 was also called the sepoy mutiny and the first war of independence. What was the
importance of these different names for the same set of events?

(1) To identify the main actors in these events

(2) To measure the degree of anticolonialism in the Indian people

(3) To understand the different outcomes that resulted.

(4) An act of self-publicity on the part of those who gave these names

109

1857 € fewdu § fAuwint €t gares W3 A3393T v ufosT U &t »ifun wier § | fed fami et
wesT=t & YT Bt fegt fefds a=t e ot vog= At :
(1) fegt weasT=t feg Hy-H39r & forrsedt aaaT
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(2) I93t Bat feg gAStee-fedu &t w3ar 37 forg sarGer
(3) fen 3 fsa® fefgs fAfent § mizst
(4) 85" fenadtnt @8 Ae-yu'e & araee! fast & feg 57 &3

110 | Who took charge as Prime Minister at the death of Jawaharlal Nehru?
(1) Gulzarilal Nanda (2) Morarji Desai (3) Lal Bahadur Shastri (4) Indira Gandhi
110 | A=ro9 & &fag €1 fieg fue’ yurs 1iSet de sfen:
(1) IBAE BB €T (2) HITIHT THTEL (3) 3% 9J7€d HHIST (4) feear arrat
111 | The science that deals with the study of the Earth and its lands, features, inhabitants, and phenomena
is called
(1) Paleontology (2) Geography (3) Biology (4) Sociology
111 | Qg fefornrs fagsT fyg<t w3 fen &t 3f€, Be<t, Tt W3 T30 € riis 5% FEfaz T -
(1) ygge -fefamrs (2) Fai®-AH39 (3) i=-fefarns (4) aiH fefarnms
112 | The third planet in the solar system is also called
(1) Venus (2) Mars (3) Earth (4) Neptune
112 | gan-15% feg A7 a[fg § I9 ot wrfepr wreT 3
(1) §ad (2) ¥aT® (3) fymst (4) =<
113 | The earth has an axial tilt of 23.4°. This means that
(1) The earth wobbles around its axis
(2) The earth has varied weather during the year
(3) The hemispheres of earth are exposed to the sun for different times during the year
(4) The earth is a sphere
113 | fyg<t er mawt gam 23 .4 fsat T I fer e H3BE T fa -
(1) fyg=t MuE niaw @ FanErgEt 9 (2) fyg=t e A feg fefgs Hmi ger g
(3) fyst € dizTog Ay feg @4-TY Afidt ST HeA WA Yare e a5 (4) fymst e 9
114 | The greatest impact on the environment of earth has been from
(1) Atomic blasts (2) Human activity (3) Chemical pollution (4) Solar radiation
114 | fyg=ht @ uferr<as Qua Ag 3° <37 ygr< fan vfA€* faor 3 :
(1) uanre fende (2) Wg Y ardtfedt (3) gATfesd ygue (4) gaHt fefaas
115 | Controlling air pollution is important to ensure that
(1) Crops do not suffer (2) Industries get a proper supply of air
(3) we have clean air to breathe (4) Animal population does not go down
115 | 9 ygHe § d¢5 d9s" feu uatat se78< et Hog=yds J fa
(1) BHST €T §IATS &T (2) Sedar & =4 &t 8fez AusTer e
(3) A8 3% Ag < BT A8 g7 I (4) Ug Fifeodr We a7 92
116 | Recently there has been much controversy over the condition of glaciers in India. The fear is that
glaciers are
(1) Advancing (2) Deepening (3) Retreating (4) Thickening
116 | g 4t few 9793 feu aBHHaT €t MenEr 919 aet Tro-feee faur T | 39 fev T fa BT 95 -
(1) [T I (2) afgd I 37 (3) We 3 (4) g8 I 3
117 | The Ranjit Sagar dam is located near the village
(1) Naldhera (2) Thein (3) Nathpa (4) Jhakri
117 | g=+13 Aae 3 faos iz @ 33 Afag 9
(1) 3BT (2) 85 (3) 3T (4) gt
118 | The highest earth filled dam in India is
(1) Ranjit Sagar (2) Bhakra (3) Tehri (4) Hirakud
118 | grg3 few Qvan WA-yfez 30 3 :
(1) ISHIZ AT (2) =T (3) Sgo=t (4) Faa s
119 | Which of the following factors are responsible for the rapid growth of sugar production in south India

as compared to north India?
I. Higher per acre field of sugarcane Il. Higher sucrose content of sugarcane
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lll. Lower labour cost IV. Longer crushing period

(1) 1and Il (2)1, lland IV (3)1, llland IV (4)1, 11and Il
119 | @°34t 993 ©1 IB&T feu Ut 9793 fou 43 €3ures @ 37 feut et fineg aad fag=r T
1. 915 €t Y3t &gz 8939 Gun Il W3S & &9 At
Il fors3e Hagdt B9z Iv. & € €939 45 Hzar
(1) 1m3 1l )1, 1M IV (3) 1, M mM3 IV (@)1, 1m3 1
120 | India is a large country. It covers how much area of the earth?
(1) 1.4% (2) 4.4% (3) 3.4% (4) 2.4%
120 | ggz ggz @37 e I | fen @ W399r3 fymst e fdaT 4z mr@er 3
(1) 1.4% (2) 4.4% (3) 3.4% (4) 2.4%
121 | The Radcliffe line forms the boundary between
(1) India and Pakistan (2) India and China (3) India and Myanmar  (4) India and Afghanistan
121 | gzafse 3y fagt fegars AT farfea aeet 3 :
(1) 93 M3 UfaA3™s  (2) 93 M3 I (3) TSI M3 HATHG  (4) I93 M3 MSIMTSHI™S
122 | After which Census was it discovered that the population of India is growing at a rapid rate
(1) 1921 (2) 1931 (3) 1951 (4) 1901
122 | fgost Asdiest 3° gmw feg uzgT gfen fa g9 &t sy S ee s Su aat I -
(1) 1921 (2) 1931 (3) 1951 (4) 1901
123 | Saffron is produced in India in
(1) Assam (2) Bengal (3) Gujarat (4) Jammu and Kashmir
123 | grg3z few dng v @3ues fag der -
(1) mmo (2) HIr® (3) TS (4) 7Y M3 Tt
124 | From the Mansarovar Lake region come the following rivers of India
(1) Brahmaputra, Sutlej and Yamuna (2) Brahmaputra, Indus and Sutlej
(3) Indus, Jhelum and Sutlej (4) Jhelum, Sutlej and Yamuna
124 | yrama=s 915 yon T faus efewr foase 76 :
(1) §OHY'3T, ASBH M3 THET (2) §OHY'39, AT M3 AS®H
(3) fiT, A9®H M3 ASBH (4) FUBH, ASSH M3 GHET
125 | Which of the following occupies the largest cultivated area in India
(1) Barley and maize (2) Jowar and bajra (3) Wheat (4) Rice
125 | go3 feu A9 3° <37 ITHI T 439 fan € »uts I -
(1) 7 M3 Hat () Me M3 gddT  (3) I (4) T=H
126 | The current Lok Sabha is the
(1) Thirteenth Lok Sabha (2) Fifteenth Lok Sabha
(3) Fourteenth Lok Sabha (4) Sixteenth Lok Sabha
126 | fger B9 ATT T :
(1) 3g B AT (2) feg=t B8gAgT  (3) dg<t BT AIT (4) Fg<t 89 AT
127 | The Fundamental Rights in India are designed to
(1) Ensure rights of human beings
(2) ensure that all Indians can lead their lives in peace and harmony as citizens of India
(3) protect liberty
(4) protect freedom
127 | 393 feu Y& nifgars fan 3t fsardts A3 o 95 :
(1) H& ¥t € nifugrat § watat g8 et
(2) feg watat ge @< &t fq A9 9793t 993 I SaIfda’ 0 WUST fies Aigt w3 fednpdsT 8 9313 a9
HAZ
(3) MreTat € Ha faT BET
(4) H3393T &1 B Tum™ BEt
128 | The right to property is
(1) All of these (2) A fundamental right (3) Acitizen’s right (4) A legal right
128 | fugt v mifgara 3 :

https://www.freshersnow.com/previous-year-question-papers/
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(1) feg mra & (2) H® fuarg (3) sTarfeq &7 mifuarg (4) Iéat mifaag

129 | AJPC, in the context of the Indian parliament stands for
(1) Joint Parliament Consul (2) Just Parliament Consulting
(3) Joint Parliamentary Committee (4) Joint Parliament Consulting
129 | grgst Ame @ Yiar feg JPC e yas gu at o
(1) Joint Parliament Consulting (2) Just Parliament Consulting
(3) Joint Parliamentary Committee (4) Joint Parliament Consulting
130 | Article 370 of the Constitution concerns the state of
(1) Himachal Pradesh  (2) Jharkhand (3) Jammu and Kashmir (4) Tamilnadu
130 | Afegrs e migaw 370 faos oA & ASfuz I :
(1) foures yew (2) g798F (3) HH M3 TAHtg (4) 3HBEF
131 | Lok Adalat is
(2) All of these
(2) A court to settle disputes through compromise or settlements
(3) A court designed to shorten the time taken for settling disputes
(4) A court run by the people
131 | Bgwes3 T :
(1) A8 578" Gug
(2) MEF At fauetd It gaIfan € AT J96 BT METB3
(3) gaifantt € faued &et 3¢ =93 § weEe B¢t famdls A3t nie a3
(4) Bdt & IBTE ALl HEBI
132 | The division of the people of India into linguistic provinces was based on the principle that
(1) Providing administration to people in their own language is a good in itself
(2) All of these
(3) Using local languages makes for easier administration
(4) Language is an important bond which unites people and creates an identity for them
132 | grgz @ Bt &t gt yout feu &7 fen fauig 3 wofea At fa -
(1) Bat & €T & Myt I few yamHs € € aH MU wry feg Sar an
(2) feg Ara ot
(3) FEfsd IR € ¥93° YATHS § RuT 98T 9
(4) IHT HU'I<UTS €3 J faosT Bat § Azger I M3 O§T 8t ug'e ge€er J
133 | Making a living is
(1) A right given to us by the government (2) A divine right
(3) A right given to us by the courts (4) A fundamental right
133 | gt e :
(1) Agg 8 g fe3T mfgarg 9 (2) €=t mifggmg §
(3) eB3t =B A fesT mfuarg 7 (4) H& mfodrg J
134 | All revenues received by Government by way of taxation like income-tax, central excise, custom, land
revenue (tax revenues) etc. form the
(1) Government of India (2) Contingency Fund of India
(3) Consolidated Fund of India (4) All these
134 | gerars fA= Mineat g9, MradTdt, §ait, iagraTdt #irfe € gy feu Aeae =8 YU Avdl »iniest a8t 3
(1) 9793 AIAT (2) 793 T MTIAMAIT &5 (3)FOI T AfEI &8 (4) Quiaz Aot
135 | The parliamentary system in India is based on the principle of
(2) First Past the Post (2) Proportional Representation
(3) Majority vote (4) Popular democracy
135

93 €t AREt yerut faus frug Gue murfag 3 :
(1) sgfarest St &t I yerst (2) mMguT3 yfafauzr

P-Il Test Booklet code- A Page 21 of 24




(3) ggfaredt 2 (4) BIfpd BI339

136 | Prasar Bharti is

(1) The Public Service Broadcaster of India (2) An NGO

(3) ATV organisation (4) A radio organisation
136 | ymg 793t I :

(1)FIBTEIAT YIS ()MsH & (3) & & Forss (4) THE€ Farss
137 | Feminism refers to

(1) The ideology that women should be treated at par (2) The ideology that women should rule

(3) The ideology that men should rule (4) That women should be given more opportunities than men
137 | ardtere fan @ Az d9e7 9 ?

(1) fe fegraurer fa nigzt § gorgg miset galer I

(2) fev fegraurer fa nigzt § AHE a9aT Idter §

(3) feg fegraurer fa yant & WS gdaT gdter &

(4) feg fegraurar fq yaut 578 TU M<AT YE'5 dd6 I9IE I&
138 | The Chief Justice of India is appointed by

(1) The Prime Minister of India (2) The parliament of India

(3) The President of India (4) The Lok Sabha
138 | grgg 3 U1% Anfen 1 fagast d= daer J :

(1) 93 € YU'S W3t (2) 993 €1 AAE (3) I93 €T ITHSIUST (4) 8 HIT
139 | The Supreme Commander of the military in India is

(1) The President (2) The Prime Minister

(3) The Home Minister (4) The Defence Minister
139 | ga3z feu A& €T FUdH aHisa 9 :

(1) IHeIUST (2) Yo H3dt (3) Irfg W3t (4) T Yrzat
140 | The Protection of Civil Rights Act was designed to

(1) Protect the civil rights of individuals  (2) Prescribe punishment for the practice of Untouchability

(3) Protect the civil rights of social groups (4) Protect the civil rights of citizens
140 | mrarfaa mfgaret &t gafun mfafewd fam T w3 fanrg aisT faprr At :

(1) feradt € srarfaa mifuarat & fonfez daaT (2) gg3 ¥ fe=ud Bet nar fanfexs gaat

(3) ANTHA AYTT € &Ta1fdd wfuarat € Ha o™ Jaat (4) &TIIfddT & STAIfdd MfgaTar € g feT Jdat
141 | Social Sciences study

(1) Societies (2) Indivduals (3) Governments (4) Philsophies
141 | ayA-fefamis wfers aee 9 :

(1) AHTHT &7 (2) fomadtnt er (3) AIgTaT &7 (4) EIAS-HHIST €T
142 | “Where the mind is without fear” were lines by

(1) Mahatma Gandhi (2) Swami Vivekananda

(3) Gurudev Rabindranath Tagore (4) Sardar Bhagat Singh
142 | feg Agat faw €T I& : “where the mind is without fear”

(1) HIT3HT Irat (2) T fe=farde (3) Joe= TTEET 5T Id  (4) AIE'd 9913 fiw
143 | Part of the complexity in teaching social sciences lies in the fact that their subject is

(1) Ever changing (2) Very complex (3) Non-existent (4) Localised
143 | ayre fefamst € miforys feu fea Afesar fen S feg I fa gt ev famr 3

(1) AET Ufg=a3asHs (2) mifg Afes (3) nAf3g=-die (4) FETBfaa
144 | Education of a child takes place

(1) at all three, home, school and society (2) in school (3) in society (4) at home
144 | g9 €t fafpyr fag et 7 :

(1) w3, nig@ M3 i f3at feg (2) rgs feg (3) e feg (4) w3 feg
145 | A teacher has to be adapt at

(1) Acting (2) Learning (3) Communication (4) Playing multiple roles
145 | mifgmryg § fan € mMdg ger gdter 3 :

(1) mfgs & (2) fafer —yrust € (3) g9 & (4) gguH! ghvar=t fag e &
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146 | The difference between a primary and secondary source is that

(1) A primary source is primary while a secondary source is secondary

(2) A secondary source is closest to the person, information, period, or idea being studied
(3) A primary source is closest to the person, information, period, or idea being studied
(4) All of these

146 | yrafig W3 A< 73 feg Waa fea 9 fa -

(1) yafia 73 yafiag I m3 dic iz dic 7

(2) die A3 mftis 3 77 39 fenast, pusT, I A fegg € fadea der T
(3) yafia A3 mfoms 3 77 39 femast, pasT, I At fegg e fagesH der 9
(4) feg Ag It

147 | Project work is important because
(2) It enables students to be creative (2) It creates some work for students
(3) Learning by doing is more lasting learning (4) It enables teachers to be creative

147 | §srge er oH Ho'3<yds 3 fag fa -
(1) feo fefenraght § 953 95 € War ge@eT I (2) feg fefenrmaghnt Bet g3 o e g9eT &
(3) W 99 & fAyeT =uq raret fAfvrm-yrust O (4) feg miformuat & g9aT3HT 96 € Harge 8T I

148 | Class room teaching should be

(1) Intense (2) One sided (3) Interactive (4) Easy
148 | F@™HIH HfgmTus 5= :
(1) Stgg (2) feg-um= (3) UInug fammava (4) TS

149 | DPI is the acronym for
(1) Director of Prosecution and Intelligence  (2) Department of Personnel and Investigations

(3) Director Private Instruction (4) Director Public Instruction
149 | ppI faw & yai-mydt gu d :
(1) Director of Prosecution and Intelligence (2) Department of Personnel and Investigations
(3) Director Private Instruction (4) Director Public Instruction
150 | Teaching techniques in the social sciences could involve
(1) Role Playing (2) All of these (3) Projects (4) Lectures
150 | myA-fefarrs few rftus 3astat feg Arieg g9aT Iter 9 :
(1) ghiar fsgBer (2) Qudazs A9 Tt (3) Grae (4) BIgd
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